
SUPERKIDZ CHAMPIONSHIP  

Mental Maths  

Max. Time: 15 Mins.                        Class 6-8 Max. Marks: 75 

Important Instructions               

1. This Question Paper has 75 questions and each question carries 1 mark. 
2. Answer the questions in answer sheet provided separately. 

 
Name  ……………………………………………………………………….                             Roll No. …………….. 
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1.  (698 x 7) + (72 x 8) = 
a. 5563 c. 5462 
b. 4526 d. None of these 

 
2. (606 x 6) – (1018 ÷ 2) = 

a. 3227 c. 2917 
b. 3127 d. None of these 

 
3. (714 x 3) – (3576 ÷ 6) = 

a. 1456 c. 1546 
b. 1566 d. None of these 
 

4. (830 x 8) – (5910 ÷ 6) = 
a. 5655 c. 5554 
b. 5650 d. None of these 

 
5. (741 x 2) – (2892 ÷ 3) = 

a. 617 c. 518 
b. 529 d. None of these 

 
6. (367 + 523 + 162 – 910) = 

a. 243 c. 142 
b. 144 d. None of these 
 

7. (547 + 132 – 490 + 125) = 
a. 314 c. 334 
b. 224 d. None of these 
 

8. (512 – 390 + 156 + 223) = 
a. 515 c. 501 
b. 451 d. None of these 

 
9. (856 + 234 – 750 + 659) = 

a. 999 c. 1000 
b. 889 d. None of these 

 
10. (628 + 417 – 920 + 125) = 

a. 250 c. 305 
b. 255 d. None of these 

 
11. 720 + 513 – 926 + ? )= 672  

a. 365 c. 470 
b. 315 d. None of these 

 

12. 268 + 59 + 273 - ? = 430 
a. 159 c. 180 
b. 170 d. None of these 

 
13. 290 + 581 + 72 - ? = 643 

a. 289 c. 291 
b. 300 d. None of these 

 
14. 361 + 205 – 475 + ? = 188 

a. 97 c. 107 
b. 67 d. None of these 

 
15. 251 + 923 – 683 + ? = 624 

a. 133 c. 103 
b. 234 d. None of these 

 
16. (63 – 18 + 30 + 24 – 71 + 64 + 45) = 

c. 135 c. 155 
d. 153 d. None of these 
 

17. (13 + 95 + 73 – 80 + 64 + 53 – 97 – 16) = 
a. 115 c. 116 
b. 105 d. None of these 

 
18. (30 + 95 – 80 + 48 + 21 – 69 + 46 – 31) = 

a. 60 c. 66 
b. 70 d. None of these 

 
19. (97 + 25 – 13 + 69 – 96 + 25 – 30 + 41) = 

a. 129 c. 229 
b. 118 d. None of these 
 

20. (82 + 40 – 19 + 38 + 74 + 36 – 20 – 85) =  
a. 248 c. 116 
b. 146 d. None of these 

 
21. (336 x 9) + (65 x 2) = 

a. 3145 c. 3154 
b. 1334 d. None of these 

 
22. (690 x 8) + (77 x 3) = 

a. 6882 c. 5381 
b. 5751 d. None of these 
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23. (225 x 9) + (21 x 6) = 
a. 2209 c. 1890 
b. 1999 d. None of these 

 
24. (714 x 4) – (19 x 3) = 

a. 2799 c. 3790 
b. 3689 d. None of these 

 
25. (813 x 9) – (47 x 7) = 

a. 7082 c. 7181 
b. 6981 d. None of these 

 
26. (20 + 0.6 + 0.02) = 

a. 20.08 c. 20.80 
b. 20.62 d. None of these 

 
27. (1 – 0.92) = 

a. 0.08 c. 0.80 
b. 1.92 d. None of these 

 
28. (0.2 + 0.8 – 1.0) = 

a. 0.8 c. 0.9 
b. 0.7 d. None of these 

 
29. (0.3 + 0.33 + 0.245) = 

a. 0.605 c. 0.365 
b. 0.875 d. None of these 

 
30. (2.2 + 3.1 – 0.4 – 0.2) = 

a. 4.7 c. 5.1 
b. 5.6 d. None of these 

 
31. (0.6  x 4) = 

a. 0.24 c. 2.4 
b. 24 d. None of these 

 
32. (0.2 x 0.3) = 

a. 6 c. 0.06 
b. 0.6 d. None of these 

 
33. (0.3 x 0.3 x 0.2) = 

a. 0.18 c. 1.8 
b. 0.018 d. None of these 

 
34. (4.0 x 2.0) = 

a. 0.08 c. 0.8 
b. 8.0 d. None of these 

 
35. (4 x 0.2) 

a. 0.08 c. 0.008 
b. 8 d. None of these 

 
36. (4 x 7) = (30 - ?) 

a. 28 c. 20 
b. 2 d. None of these 

37. (9 x 3) = (36 - ?) 
a. 9 c. 10 
b. 3 d. None of these 

 
38. (8 x 7) = (63 - ?) 

a. 6 c. 5 
b. 13 d. None of these 

 
39. (13 x 7) = (99 - ?) 

a. 16 c. 6 
b. 8 d. None of these 

 
40. (9 x 9) = (87 - ?) 

a. 5 c. 6 
b. 9 d. None of these 

 
41. (10 x 4) = (20 x ?) 

a. 2 c. 3 
b. 4 d. None of these 

 
42. (9 x 4) = (20 + ?) 

a. 15 c. 14 
b. 16 d. None of these 

 
43. (25 x 3) = (50 + ?) 

a. 25 c. 75 
b. 50 d. None of these 

 
44. (18 x 6) = (70 + ?) 

a. 28 c. 36 
b. 38 d. None of these 

  
45. (15 x 6) = (60 + ?) 

a. 90 c. 60 
b. 6 d. None of these 

 
46. 78 ÷ 3 = 

a. 24 c. 34 
b. 26 d. None of these 

 
47. 48 ÷ 4 = 

a. 16 c. 12 
b. 24 d. None of these 

 
48. 72 ÷ 18 =  

a. 3 c. 6 
b. 4 d. None of these 

 
49. 88 ÷ 4 = 

a. 22 c. 11 
b. 44 d. None of these 

 
50. 66 ÷ 3 = 

a. 33 c. 32 
b. 22 d. None of these 
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51. 5% of 20 = 
a. 5   c. 10 
b. 4 d. None of these 

 
52. 4% of 80 = 

a. 40 c. 16 
b. 20 d. None of these 
 

53. 10% of 120 =  
a. 10 c. 22 
b. 12 d. None of these 

 
54. 5% of 220 = 

a. 110 c. 40 
b. 11 d. None of these 

 
55. 2% of 30 = 

a. 15 c. 5 
b. 6 d. None of these 

 
56. 325 – 120 = 

a. 205 c. 105 
b. 215 d. None of these 

 
57. 288 – 144 = 

a. 188 c. 148 
b. 144 d. None of these 

 
58. 73 – 37 = 

a. 27 c. 36 
b. 37 d. None of these 

 
59. 63 – 45 = 

a. 15 c. 18 
b. 13 d. None of these 

 
60. 113 – 37 = 

a. 66 c. 77 
b. 76 d. None of these 

 
61. (8370 ÷ 9) – 240 = 

a. 589 c. 890 
b. 690 d. None of these 

 
62. (7704 ÷ 8) – 434 = 

a. 430 c. 529 
b. 639 d. None of these 

 
63. (5628 ÷ 7) – 190 = 

a. 614 c. 524 
b. 604 d. None of these 

 
64. (4446 ÷ 6) – 356 = 

a. 295 c. 385 
b. 380 d. None of these 

65. (6327 ÷ 9) + 415 = 
a. 1118 c. 1028 
b. 1088 d. None of these 

 
66. (3584 ÷ 7) + 673 = 

a. 1258 c. 1185 
b. 1150 d. None of these 

 
67. (5744 ÷ 8) + 790 = 

a. 541 c. 642 
b. 440 d. None of these 
 

68. (2384 ÷ 4) + 549 = 
a. 1145 c. 1515 
b. 1154 d. None of these 

 
69. (6327 ÷ 9) + 415 = 

a. 1118 c. 1028 
b. 1088 d. None of these 

 
70. (1780 ÷ 5) + 447 = 

a. 813 c. 712 
b. 830 d. None of these 

 
71. (3120 ÷ 4) + (901 x 3) = 

a. 3483 c. 4383 
b. 3338 d. None of these 

 
72. (5526 ÷ 9) + (823 x 7) = 

a. 6375 c. 6457 
b. 6315 d. None of these 

 
73. (1290 ÷ 3) + (590 x 9) = 

a. 5740 c. 5910 
b. 5704 d. None of these 

 
74. (4872 ÷ 8) + (758 x 5) = 

a. 4999 c. 4390 
b. 4399 d. None of these 

 
75. (2008 ÷ 4) + (132 x 6) = 

a. 1349 c. 1294 
b. 1244 d. None of these 
 


